DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 1 TO 10 Hame:
Time: Score: y—

) —713.52 +9 = 6 —060578 + 7 =
62 —11211 =3 = mo7.967 =1 =
63) —36714 = 6 = ) 70.3+10 =
6) —1402 =~ 5 = ) 899 =+1=
65) 9234.5 =1 = 80) —23408 -7 =
66) —31.272 -8 = ) —69.93 + 3 =
67 263.34 =3 = 2 —96.86 + 1 =
65) —G7284 =— 9 = 83) —18270 =5 =
69 6580 = 10 = 8) —42.66 =3 =
0 —44114 =7 = ) 176.14 =2 =
o —2907 =5 = 86) 11.424 =6 =
) 78.968 + 8 = 02793 + 3 =
) —24.25 =5 = 664+ 1=
M) —32781 + 7 = 9 302+1=
%) 151.08 =6 = 012550 + 5 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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